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�<l:1l: (1) CJtl{L °t ll�L ��l°'l(itlct 0. :otict11� [ct&<:'4.L :otltl<=LL 0.

(2) :otl ll�'4.?L--LL �<=L 39 ll�L [q�LOL A, B, C :oJ.'1. D �i ctJ<LLil.<=LL 0.

(3) ll�.--(l °t��[l C>tl�--LL :al& ct.--LL ��L t.�L[cl 0.

(4) °t�� °t�Llit l:?..li :otL�l:ct. t.L�cfi, �<L--t,L.-{l �u{L:oJ.L °&utcfi �Lutcfi.

(5) --Lctl [q�LOL --Lctl '4.L--t.L2{l <=Lutctlj �L� &�ctl. ll�--LL °tctLC>t :&��i <=Lutl.

(6) 1�€1.2�--1,1. C3'4.itLOL &�ctL -te'1.
I fcl�LOL - A I 

e �<l"1.l 1j°t6l °tCl.lCJl :otl'-1.l. (1 � 16) (ll�h--tl 1 ��l) 

e 4l�--tl fcl�l--tl bt�i � b btL2i rl °t�llCl.l. 
1,1 3 2 ,.11
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"' (1) P 1 n1 
= 3 + 5x + x + x 6l§'4.u--LL tl.Lct 3 t9.

(2) [qq<L& �Ll.l{ctLj <i_?I.D= b
2 
-4ac t9.

(3) 3, 3, 3, ... ��ict� ��[l 0.
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0 1 cos45 = -✓2 

fcl�l--t �L1 CJi.'1 a. �rl tl.LOtl. fclM'-1. '-1.�t. h�L . 
,.,_) - "\ "'\ "'\ 
w6L X = 25 :o-t.--t. z = 25 elit ctl, M= ............ . 
(A) 25 (b) 0 ( C) 1 (D) 75
P (A)+ P (A) = ............... . 
(A) 1 (B) 0 ( C) -1 (D) 2
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(7) ��1{1 :tlct. <0.\\.<=Li s2 tL·�u.--(l �1,3��i2{l �3 '4.13L&ctL�i :otLct ctL ct. '4.1 <=LL<=L �0L--t.L C>tLt.�LLe eLctL.-{l
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. "' ��Lct--LL ............... t9.

(A) _!_ (B) _!_ ( C) _!_ (D) l._
13 26 52 26

� 17x + 23y = 40 :oJ.'1. 23x + 17 y = 80 el.it ctl x + y = ............... . 
(A) 120 (B) 40 ( C) 3 (D) 80
fcl�l--t �-u1 CJi.'1 a. 1j°t6l bi.Leal °tOtl.l 'l�L . 

� �l{l3��L Bx+ 5k = 18 --LL �3 C31<=L (1, 0) el.it ctL K = ................... . 

[c,i&:otL (2, 3) :ot'i. (4, 1) ct:dt:ii :olct� ................ 0.

tan2 0 - sec2 0 = .......... . 
� o 1�ctLutL ctdut'i. [c,i& P �i2{l t.L�<=LL �'4.�[&1. PA :ot'i. PB ct:dt 80° --LL 1-1�u. �<LLctL el.it ct\ 

LPOA = ................. . 
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